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MURURIA SECONDARY SCHOOL

FORM 2 MATHEMATICS HOUR 1 TERM 3 2014

NAME:………………………………………………CLASS: …..ADM…...
Section 1:  Answer all questions.  30 mks

1.  Solve for x in the equation.  3 mks

812x x 27x = 729


    9x
2.  Use logarithms to evaluate.  4 mks 



36.15 x 0.02573


3
    1.938

3.  The equation of a line is -3x + 3y = 6.  Find the 




     5

a.  Gradient of the line.  1 mk

b.  The equation of a line passing through point (1,2) and perpendicular to the given line.  3 mks
4.  The ratio of the lengths of the corresponding sides of two similar rectangular tanks is 3:5.  The volume of the smaller tank is 8.1m3.  Calculate the volume of the larger tank.  3 mks 

5.  Given that Sin(90 – x)o = 0.8, where x is an acute angle, find without using tables the value of tan xo.  2 mks

6.  A plug is made up of a hemispherical cap of radius 4.2cm, and a cylinder of diameter 3.5cm and height 5.0cm as shown in the diagram alongside.  Calculate the volume of the plug.  3 mks 

7.  Simplify by first factorizing the expressions in.  3 mks


3x2 – 4xy + y2

9x2 – y2
8.  Find the value of x and y in triangle MNO below.   4 mks

9.  Use mathematical tables (not logarithms) to solve       4 mks



0.14683 +      1

 



 27.383
SECTION II (10 MKS)

Answer any one question.

10.  A chord xy of length 12cm is drawn in a circle with centre O and radius 10cm as in the figure below.

Calculate 

a.  the distance ON



1 mk

b.  the area of the sector OXPY





3 mks

c.  the area of triangle OXY





2 mks

d.  the area of the minor segment




2 mks

e.  the area of the major segment




2 mks

11.  a.  The ratio of Juma’s and Akinyi’s earnings was 5.3.  Juma’s earnings rose to Ksh.8400 after an increase of 12%.  Calculate the percentage increase in Akinyi’s earnings given that the sum of their new earnings was Ksh.14,100.  6 mks 

b.  Juma and Akinyi contributed all the new earnings to buy maize at Ksh.1175 per bag.  The maize was then sold at Ksh.1762.50 per bag.

The two shared all the money from the sales of the maize in the ratio of their contribution.  Calculate the amount that Akinyi got.  

